typedef struct no{
    int de, para, custo;
    const bool operator <(const no &a) const {
        return custo > a.custo;
    }
};
int conjunto[10005];
int findset(int a){
    if(conjunto[a] == a){
        return a;
    }
    return conjunto[a] = findset(conjunto[a]);
}
bool unir(int a, int b){
    if(findset(a) != findset(b)){
        if(conjunto[a] < conjunto[b]){
            conjunto[conjunto[b]] = conjunto[a];
        }
        else{
            conjunto[conjunto[a]] = conjunto[b];
        }
        return true;
    }
    return false;
}
main(){
    //freopen("a.txt","r",stdin);
    int t,n,m,a,i,de,para,custo,k=0;
    scanf("%d",&t);
    while(t--){
        priority_queue<no> heap;
        scanf("%d %d %d",&n,&m,&a);
        for(i = 1;i<=n;i++){
            conjunto[i] = i;
        }
        for(i = 0;i<m;i++){
            scanf("%d %d %d",&de,&para,&custo);
            no va;
            va.de = de;
            va.para = para;
            va.custo = custo;
            heap.push(va);
        }
        custo = 0;
        while(!heap.empty()){
            no va = heap.top();
            heap.pop();
            if(a <= va.custo){
                break;
            }
            else if(unir(va.de,va.para)){
                n--;
                custo += va.custo;
            }
        }
        printf("Case #%d: %d %d\n",++k,custo+a*n,n);
    }
}


#include <cstdio>
#include <cstdlib>
#include <cstring>
#include <queue>
#define arq() freopen("a.txt","r",stdin);
using namespace std;
struct No{
    int para, dias;
    bool operator <(const struct No &lhs) const{
        return dias > lhs.dias;
    }
};
    priority_queue<No> *heap = new priority_queue<No>;
        while(!heap->empty()){
            No no = heap->top();
            heap->pop();
            if(no.para == e){
                if((d - no.dias) % 2 == 0){
                    pode = 1;
                    heap = new priority_queue<No>;
                }

#include <iostream>
#include <iomanip>
#include <string>
#include <vector>
#include <list>
#include <map>
#include <set>
#include <cmath>
#include <algorithm>

using namespace std;

typedef long long int ll;
typedef unsigned long long int ull;

typedef vector <   int  > vi;
typedef vector <   vi   > vvi;
typedef vector < double > vd;
typedef vector <   vd   > vvd;
typedef vector < string > vs;

#define PI 3.14159265359
#define MAX 10001
double volume[MAX];

bool numOfFriends(double v, int N, int F) {
  int friends = 0;
  for (int i = 0; i < N; i++) {
    friends += (int) floor(volume[i]/v);
  }

  if (friends >= F)
    return true;
  return false;
}

double binSearch (double l, double r, int N, int F) {
  if (abs(r - l) < 1e-3) {
    return (l+r)/2.;
  }

  if (numOfFriends((l+r)/2., N, F))
    return binSearch((l+r)/2., r, N, F);
  else
    return binSearch(l, (l+r)/2., N, F);
}

int main() {
  int r, N, F, T; cin >> T;
  double maxV;

  while (T--) {
    cin >> N >> F; maxV = -1.;
    for (int i = 0; i < N; i++) {
      cin >> r;
      volume[i] = PI*r*r;
      maxV = max(maxV,volume[i]);
    }

    cout << binSearch(0., maxV, N, F+1) << endl;
  }

  return 0;
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